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Figure 1: The Circuit Diagram  
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Figure 2: The Plot of Vj VS Set   
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Figure 3: The Circuit Diagram  
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Figure 4: The Characteristics curve of jFET  
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Figure 5: The jFET as an Amplifier  
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Figure 6: The Plot of Vj VS Set  
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Figure 7: when applying 2 VP_P 
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Figure 8: The output when 2VP-P apply 
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Figure 9: Common Drain Amplifier 
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Figure 10: Common Drain Amplifier input 0.4 V




Figure 11: The output of Common drain Amplifier 
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Figure 11: the plot of input and output to calculate the phase shift 
Phase Shift = 2*3.14*∆t 
 ∆t= 11us  phase shift=  
0
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Figure 12: The constant current source 
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Figure 13: The plot of ID at the Difference value of resistor 
 
The value of current recorded in the table 1 below. 
 	 
Table 1: The current IL and The Voltage VL 
	RL(KΩ) 
	 IL(mA) 
	VL(Calculated) 

	0.1  
	12.003 
	1.2 

	.22 
	11.965 
	2.63 

	.33 
	11.932 
	3.93 

	.47 
	11.889 
	5.588 

	.56 
	11.862 
	6.643 

	1 
	11.729 
	11.729 

	1.5 
	8.9662 
	13.49 

	2 
	6.9432 
	13.903 

	3 
	4.7677 
	14.302 
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